Convergence Rates of Iterative Procedures

Consider the "error" in the kth step of some method:

/\fnw aungie/

|>< X,

\ qutss w the ku\oh'p

What could the error be in the next step, relative to €, ?

Generally, error behavior like this is called "linear convergence" ("order 1"):

< Ce, i, O¢c< |

A g

¢ Coel wh, Q¢ c<)

Generally, error behavior like this is called "cubic convergence" ("order 3"):
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(..and soon)  Which of these is fastest? cubic

Rewrite this so that the constant stands on its own, for a general order c,; :
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Do not confuse this with "g-th order" convergence wChq for a mesh width h!







